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(Elective Course : Commerce) 

ECO-10 : ELEMENTS OF COSTING   

Time : 2 Hours  Maximum Marks : 50 

Note : Attempt any two questions from  

Section A and any two questions from 

Section B. 

 Section—A 

1. Where are the factors that should be 

considered before the installation of a 

system of costing ? 10 

2. What do you mean by decentralized 

purchasing ? What are its advantages and 

disadvantages ? 2+4+4 
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3. Write short notes on any two of the  

following :  5+5 

(a) Allocation of overheads 

(b) Under-absorption 

(c) Work-in-progress 

(d) ABC analysis 

Section—B 

4. From the following transactions, prepare a 

Stores Ledger Account using FIFO method :  

     15 

Year 2022   

1 July Opening stock 500 units @ 

` 20 each 

4 July Purchased 400 units @ 

` 21 each 

10 July Issued 600 units 

14 July Purchased 800 units @ 

` 24 each 

22 July Issued  500 units 

30 July Issued  300 units 
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5. Prepare a cost sheet from the following data 

and find the cost of production, per unit : 

     12+3 

Raw material consumed  ` 15,000 

Direct labour charges ` 9,000 

Production overheads ` 4,500 

Administrative 

overheads 20% on works cost 

Selling overheads ` 0.50 per unit 

Units produced 17100 units 

Units sold  16000 units @ ` 4 

per unit 

6. The net loss shown by financial accounts of 

a company amounted ` 57,320.  

Scrutiny of the figures from both the sets of 

books revealed the following facts : 

(i) Director’s fees not charged in cost 

accounts ` 1,300. 

(ii) A provision for bad and doubtful debts 

made in financial accounts ` 1,140. 

(iii) Bank interest credited in financial 

accounts ` 60. 
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(iv) Obsolescence loss charged in financial 

accounts ` 16,600. 

(v) Overheads in cost accounts were 

estimated at ` 17,000. 

The charges shown by the financial 

accounts were ` 16,640.   

(vi) Depreciation charged in financial 

accounts was ` 9,600 whole depreciation 

recovered in cost accounts to ` 8,000. 

Prepare a statement reconciling the  

figures and find the balance as per cost 

accounts.   15  
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 ECO–10 

Lukrd mikf/k dk;ZØe (ch- Mh- ih-) 

l=kar ijh{kk  

twu] 2025 

(,sfPNd ikB~;Øe % okf.kT;) 

bZ-lh-vks-&10 % ykxr ys[kk ds ewy rRo 

le; % 2 ?k.Vs   vf/kdre vad % 50  

uksV % [k.M ^d* esa ls dksbZ nks iz'u vkSj [k.M ^[k* esa ls dksbZ 

nks iz'u dhft,A 

[k.M&d 

1- ykxr fu/kkZj.k iz.kkyh dh LFkkiuk ls iwoZ fdu dkjdksa ij 

fopkj fd;k tkuk pkfg, \ 10 

2- fodsUnzhÏr Ø; ls vki D;k le>rs gSa \ blds Qk;ns 

vkSj uqdlku D;k gSa \ 2+4+4 

3- fuEufyf[kr esa ls fdUgha nks ij laf{kIr fVIif.k;k¡ fyf[k, %

     5$5 

(v) mifjO;;ksa dk vkcaVu 

(c) U;wu lafoy;u 

(l) izxfr ij dk;Z  

(n) ABC fo'ys"k.k 
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[k.M&[k 

4- fuEufyf[kr lwpukvksa ls FIFO fof/k dk iz;ksx djrs gq, 

Hk.Mkj cgh [kkrk rS;kj dhft, % 15 

o"kZ 2022   

1 tqykbZ izkjfEHkd LVkWd 500 bdkb;k¡ @ ` 20 

izR;sd 

4 tqykbZ [kjhnkjh 400 bdkb;k¡ @ ` 21 

izR;sd 

10 tqykbZ fuxZfer 600 bdkb;k¡ 

14 tqykbZ [kjhnkjh 800 bdkb;k¡ @ ` 24 

izR;sd 

22 tqykbZ fuxZfer 500 bdkb;k¡ 

30 tqykbZ  fuxZfer 300 bdkb;k¡ 
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5- fuEufyf[kr vk¡dM+ksa ls ykxr fooj.kh rS;kj dhft, vkSj 

izfr bdkbZ mRiknu ykxr fudkfy, % 12$3 

iz;qDr dPpk eky ` 15,000 

izR;{k Je O;; ` 9,000 

mRiknu mifjO;; ` 4,500 

iz'kklfud mifjO;; dkj[kkuk ykxr ij 20% 

foØ; mifjO;; ` 0.50 izfr bdkbZ 

mRikfnr bdkb;k¡ 17100 bdkb;k¡ 

foØ; bdkb;k¡ 16000 bdkb;k¡ @ ` 4 

izfr bdkbZ 

6- ,d dEiuh }kjk fn[kkbZ tkus okyh 'kq¼ gkfu ` 57,320  

gSA  

iqLrdkas ds nksuksa lSVksa dh tk¡p ls fuEufyf[kr rF; lkeus 

vk, % 

(i) ykxr [kkrksa esa funsZ'kd dk 'kqYd ugha fy[kk  

x;k ` 1,300A 
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(ii) v'kks/; vkSj lafnX/k ½.kksa dk izko/kku] foÙkh; ys[kksa 

esa fd;k x;k ` 1,140A 

(iii) foÙkh; [kkrksa esa cSad C;kt ØsfMV fd;k x;k ` 60A  

(iv) foÙkh; iqLrdksa esa izpyu ls gkfu ` 16,600A 

(v) ykxr ys[kksa esa vuqekfur mifjO;; ` 17,000 gSA 

foÙkh; ys[kksa }kjk fn[kk;s x;s izHkkj ` 16,640 FksA 

(vi) foÙkh; iqLrdksa esa Îkl ` 9,600 ls  yxk;k x;k 

tcfd ykxr ys[kksa esa Îkl ` 8,000 yxk;k x;kA 

vk¡dM+ksa dk feyku djrs gq, ,d fooj.k rS;kj dhft, 

vkSj ykxr [kkrksa ds vuqlkj 'ks"k jkf'k Kkr dhft,A 15 

× × × × × 

 

 

 

 

 

 

 


